NOLE/LLSY | [99)S SSo|ulels ([eusjel , Q0epNS paziueeb ‘[es)s :[eLajep

14" cl deydsg v/l o 9 1-G0L -901
cl bl dejdsg g/l o 9 «VA\ - ¥0L - 901
cl bl dejdsg g/l o 9 0L - 901}
cl (31 dey L X 0L N 9 «VYA - €0l - 901
cl (31 dey L X 0L N 9 €01l - 901}
cl bl dey| xg W 9 «VYA\ - 20l - 901
cl bl dey| xg W 9 ¢0l - 901}
cl (31 dey L x9 W 9 «VYA - 10l - 901
cl (31 dey L x9 W 9 LOL - 901
0] 6 deydsg g/l o 14 0L - ¥0l
oL 6 dey L x0L N 14 €0l - 0l
] 6 dey|L xg W 14 ¢0lL - ¥0l
(] 6 deyL x9 W 14 LOL - ¥01L
ZMS Lms Lp a ‘ou wayl ou Wia)-'0

P

. m

o

ZMS Lms

I

L-¥E€Y8 OSI / €5€Z NIQ Bumiy maias moq|3



goeuns paziueaeb ‘|sa)s jeusley

b dey dsg 8/ o 9 vEL - 901
b de} L x 0L N 9 €€l - 901
b dey L xg W 9 ZEL - 901
b deyLx9 W 9 LEL - 901
b de} dsg 8/1 o 14 veL - v0L
b de} L x 0L N 14 €€l - v0L
6 dey L xg W 14 ZeL - v0L
6 deyLx9 W 14 LEL - Y01
LMs Lp a ‘ou weyl ou w8y~

LmMs

Apoq / 9dA} maios S10}23UU0d Moq|]



Straight screwel coupling

swi1 sw2

e
T

o |

bbbl G AN

e (1 gV

c.-item no item no. D d1 sw1 sw2
104 - 001 4 M 6x1tap 9 10
104 - 002 4 M 8x1tap 9 10
104 - 003 4 M 10x 1 tap 11 10
104 - 004 4 R 1/8 BSP tap 11 10
106 - 001 6 M 6x1tap 11 12
106 - 001 - VA* 6 M 6x1tap 11 12
106 - 002 6 M 8x1tap 11 12
106 - 002 - VA* 6 M 8x1tap 11 12
106 - 003 6 M 10x 1 tap 11 12
106 - 003 - VA * 6 M 10x 1 tap 11 12
106 - 004 6 R 1/8 BSP tap 11 12
106 - 004 - VA* 6 R 1/8 BSP tap 11 12
106 - 005 - L 6 R 1/4 BSP tap 12 14
108 - 001 8 M 6x1tap 14 14
108 - 002 8 M 8x1tap 14 14
108 - 003 8 M 10 x 1 tap 14 14
108 - 004 8 R 1/8 BSP tap 14 14

Material: steel, galvanized surface * Material: stainless steel 1.4571/316ti



(3

(3

b

(3

(3

b

MS

<

14
14
14
a

deydsg ¢/L o
dey L x0L N
dey L xg W
dey L x9 W

deydsg ¢/L o
dey L x0L N
dey L xg W
de} L x9 W

Lp

soeuns paziueaeb ‘jaa)s ;leusiel

¥€0-901

€€0-901

2¢e0-901

1€0 - 901

¥€0-¥01

€€0-¥01

¢e0-¥01
LE0 - 101

"ou wayl

ou way-'9

Apoq / adAj 10309uuod yblens

ah

ms



Connector

sw2 swi sw3

I
E Gl o e B L

) —

o

c.-item no item no. d D swi sw2 sw3
104 - 000 4 4 9 10 10
104 - 000 - VA * 4 4 9 10 10
104 -000 - 6 4 6 11 10 12
106 - 000 6 6 11 12 12
106 - 000 - VA * 6 6 11 12 12
106 - 000 - 8 6 8 12 12 14
106 -000 - 10-L 6 10 17 14 19
108 - 000 8 8 12 14 14
108 - 000 - L 8 8 14 17 17
108 -000 - VA-L* 8 8 14 17 17
110-000-L 10 10 17 19 19
110-000- VA-L* 10 10 17 19 19

Material: steel, galvanized surface * Material: stainless steel 1.4571/316ti

Equal tee
sw2 sw2

sw1

=i lvlask

[~
ld]
c.-item no item no. d sw1 sw2
104 - 300 4 9 10
106 - 300 6 11 12
106 - 300 - L 6 12 14
108 - 300 8 12 14

Material: steel, galvanized surface



Nonreturn valve / body

d| -0 111]] -jI D1

Abb. 2

c.-item no item no. d1 D D1 swW
106 - 033 - RvVB M 10 x 1 6 M10x1 11
Abb. 1
106-033-RVL* M 10 x 1 6 M10x1 11
Abb. 2
106 - 033 - RW M 10 x 1 tap 6 M10x1 11
Abb. 3
106-033-RW-VA*™ M10x 1tap 6 M10x1 11
Abb. 3

Material: steel, galvanized surface * black ** Material: stainless steel 1.4571/316ti

Nonreturn valve complete with coupling nut and cutting ring

swi sw2

1 1
iy ﬂ: QI

| o |

e

c.-item no item no. d1 D swi sw2
106 - 003 - RVB M10x1 6 1 12
Abb. 1
106 -003-RVL* M10x1 6 1" 12
Abb. 2
106 - 003 - RWW M 10 x 1 tap 6 1" 12
Abb. 3
106 -003-RW -VA™ M10x1tap 6 1" 12
Abb. 3

Material: steel, galvanized surface * black ** Material: stainless steel 1.4571/316ti



Coupling nut

sW

di

c.-item no item no. di swW
104 - 200 4 10
106 - 200 6 12
106 - 200 - VA* 6 12
106 - 200 - SW 6 12
black
108 - 200 8 14
110-200 -L 10 19

Material: steel, galvanized surface * Material: stainless steel 1.4571 / 316ti

Cutting ring
T 'y
€
b~
B R

c.-item no item no. D
104 - 210 4
106 - 210 6
106 - 210 - VA*® 6
108 - 210 8
110-210-LL 10
110-210-L 10

Material: steel, galvanized surface * Material: stainless steel 1.457 1/316ti



14

14

ZMS

Ll
Ll

IMS

0¢
S
Al

99
€e

1

soepns peziueneb |sa)s :jeuale|

L X0LIN 9 1-€vC- 901
LX9WN 9 1-bv2-90L
P 1a "Ou way ou wayl-"o
-+ ] L
-
z1
SUXELW
vH | HE
AN P ) |
/Z._a\ Zms

peayyng



N9LE/LLSY | [99)S SSO|UIE}S [eUaje|,

Ll

vi

vi

Zms

Vi
cl

cl

Lms

NOLE/L LS| |99)S SSO|UIE)S ([eLIBIE|N,

Ll
vl

vl

Zms

Ll
Ll

Ll

LMS

T |© |©

soepns paziuealeb 199)s :feusie
1-1€2- 801
«VYA-T1-1€2-901
1-1€2- 901

"ou wayl ou way-'9

- ] I
| Ms
ZMms

moq|a peayying

soepns peziueneb sa)s :jeusiep
T1-1¢2-801

«VA-T1-122- 901

1-122-901
"ou wayl ou way-'9
_ e _
P Hu
ZMms wﬁ _.r__ﬁw Z Ms

Wbrens peayying



Banjo fitting freely movable, 90° angle

c.-itemno item no. D d1 swl sw2 H L tube
104 - 172 M 8x1 M 8x1tap 15 14 30 265 f
104 - 173 M 8x1 M 10 x 1 tap 15 14 30 265 4
106 - 171* M 10 x 1 M 6x1tap 15 14 30 29 6
106 - 172 M10x 1 M 8x1tap 15 14 30 29 6
106 - 173 M 10 x 1 M 10 x 1 tap 15 14 30 29 6
106 - 174 M10x1 R 1/8 BSP tap 15 14 30 29 6

Material: brass *Material: brass, steel

Rohr@D% %
TH]
~ 3
“

Abb.1 Abb.2

It's also possible to connect a lubrication line directly to a swivel joint.

Swivel union

sw1

o N N
c.-item no item no. D d1 sw1 sw2

106 - 123 6 M10x 1 12 14

106 - 124 6 R 1/8 12 14

Material: steel, galvanized surface



Push-in straight connector (for plastic tube)

swi

sw2

]

I

L1

c.-item no

Material: plated brass

Push-in connector (for plastic tube)

L1

item no.

104 - 051

104 - 052

104 - 053

104 - 054

104 - 054 - NPT

104 - 055 - UNF

106 - 051
106 - 052
106 - 053
106 - 054
106 - 054 - NPT

106 - 055 -UNF

|
—

c.-item no

Material: plated brass

ED1

item no.

104 - 110

106 - 110

12

12

12

12

12

12

D1

M 6x1tap
M 8x1tap
M 10 x 1 tap
R 1/8 BSP tap
1/8 NPT

1/4 - 28 UNF

M 6x1tap
M 8x1tap
M 10 x 1 tap
R 1/8 BSP tap
1/8 NPT

1/4 - 28 UNF

D1

12

o -

F-Y

swl sw2 L1 L2
10 3 75 185
10 25 8 23
10 3 8 20
11 3 8 20
11 3 8 20
11 3 8 20
12 3 75 215
12 25 8 25,5
12 4 8 25,5
12 4 8 22
12 3 85 215
12 3 6 23,5
operating pressure 80 bar

D2 L1

4 28

6 31,5

operating pressure 80 bar



leq og aJnssaud Bunelsado sselq paje|d :[eusyepy

e Gl L 0l 9 ANN8Z-¥/L ¢l d4NN-SGlL-901

lc 9l 8 0l 9 1dN 8/l 2L 1dN-¥Sl-901
e Gl 8 0l 9 deyqsgsg/y 2l ¥S§l -901
(YARYA® 8 0l 9 dey LXxO0LIN 2L €61 -901
Lz 69l 8 0l 9 deyLxg W 2l ¢Sl -901
lZ G691 SZ o0l 9 deyLx9 W 21 LGl - 901

0c 21 8 0l 14 ANN 8¢ - ¥/l 6 4NN -SSL -0l

0c 21 8 0l 14 1dN 8/1 6 1dN-vGlL -0l
0¢c Gl 8 0l 14 dey dsg 8/ o 6 ¥Sl - 0L
0c L1 8 0l 14 dey L x0L N 6 €6l - 0L
02 S91 8 0l 14 dey L xg W 6 ¢Sl - v0l
0C Ss9L G'L Ol 14 dey L x9 W 6 LGL - 0L
€1 21 11 Ims  ga Ld a ‘ou Lway Ou way-9

1a

a Nnﬁ

Lms

o |

(eam opseid Jo) JO}23UUOI-MO(|d Ul-YSnd



Jeq g @olnes ap uoissald sselq pajeld :jeusiepn

74 L €l 9 ANN 8¢ - ¥/l €L dNN-GLlL -901

gz g8 €l 9 1dN 8/} €l L1LdN-v¥LlL -901
gz 0 G.L ¢l 9 deydsge/Ly ¢l il -90l
gz s'ie 8 €l 9 deyLxoLIN 2l €11 -901
gz §s'0C 8 €l 9 deyLxg W 2L ¢l - 90l
gz §s'0C 8 €l 9 deyLx9 W 2 LLL-901

74 L €l 14 ANN 8¢ - ¥/l 6 dNN-GLl-¥0l

sz S8 € ¥ 1dN8/L 6  LdN-vLL-+0L
02 0z S.2 € ¥ dedsgseny 6 vLL - 0L
ozjs1z| 8| € dej L XOLIN 6 €Ll -0l
0z 502 8 € ¥ dejLxg8 N 6 ZLL -0l
0z 502 8 € ¥ dejLx9 W 6 LLL - ¥0L
€1 71 11 ms za la a "ou wey ou Wwey-o
1a
1
— Lis e
aiza
I

€1

(eqm onseid 105) 0@ JO}OBUUOD d|eAOW A|2al) [9AIMS UI-Ysnd



Adapter 45°

‘ L
L
d
c.-item no item no. D d sw L L1
100 - 822 M 8x1 M 8x1tap 13 23 13
100 - 823 M 8x1 M 10 x 1 tap 13 3 13
100 - 833 M10x 1 M 10 x 1 tap 13 23 13
100 - 844 Rp 1/8 BSP R 1/8 BSP tap 13 23 13
100 - 855 Rp 1/4 BSP R 1/4 BSP tab 17 33 18

Material: steel, galvanized surface

Adapter 90°
= T}- L1 N ID /
Il 4
I
1] 3
d
c.-item no item no. D d sw L L1
100 - 711 M 6x1 M 6x1tap 12 |23 |13
100 - 721 M 8x1 M 6x1tap 12 123 |13
100 - 722 M 8x1 M 8x1tap 12 23 13
100 - 723 M 8x1 M 10 x 1 tap 12 23 13
100 - 733 M 10 x 1 M 10 x 1 tap 13 23 13
100 - 744 Rp1/8-BSPR1/8-BSPtap 13 23 13
100 - 724 M 8x1 R1/8-BSPtap 12 23 13
100 - 755 Rp1/4 BSPR1/4-BSPtap 17 33 18

Material: steel, galvanized surface



Adapter, extension piece

1%}
°

e EIEIS

N §
7 e

sSwW.

L3
-

:

]
i TR
A

8
= \ o
d1? Abb.2 &
1) Adapter with cut for pipe It's also possible to connect a lubrication line '
union without soldering directly to an extension. @' ’
2) Spigot screw thread of DIN 158 Material: steel, galvanized surface W
tap short, res. of DIN 2999 * Material: stainless steel 1.4571/316ti

In the table below you will find our metric designs. The inch models are on the next page (p.19)

c.-item no item no. Abb. d1 d2 L1 L2 L3 sw %Abe
100 - 120 1 M 6x1tap M 8x1 18 8 |10 |11 |4
100-130 1 M 8x1tap M 8x1 18 8 |10 |11 |4
100 - 132 1 M 8x1tap M 8x1 32 22 10 M1 4
100-135 1 M 8x1tap M 8x1 62,5 525 10 11 4
100 - 137 2 M 8x1tap M10x1 23 12 1N 13 6
100 - 140 1 M10x 1tap M 8x1 18 8 10 11 4
100 - 142 2 M 10 x 1 tap M10x1 18 7 11 13 6
100 - 141 2 M 10 x 1 tap M10x1 23 12 1N 13 6
100 - 141 - VA* 2 M 10 x 1 tap M10x1 23 12 1N 13 6
100 - 145 2 M 10x 1 tap M10x1 35 24 1N 13 6
100 - 143 2 M10x 1 tap M10x1 40 29 N 13 6
100 - 146 2 M 10x 1 tap M10x1 50 39 11 13 6
100 - 151 2 R 1/8 BSP tap M10x1 18 7 M 13 6
100 - 155 2 R 1/8 BSP tap M 8x1 18 7 M 13 4
100 - 144 2 R 1/4 BSP tap M10x1 20 9 M 17 6

Material: steel, galvanized surface
* Material: stainless steel 1.4571/316ti



Adapter, extension piece

The following table shows our imperial (inch) designs. The metric models are on the previous page (p. 18)

c.-item no

item no.
100 - 151
100 - 152
100 - 155
100 - 148
100 - 148 - VA*
100 - 156
100 - 149
100 - 154
100 - 153
100 - 144
100 - 147
100 - 162
100 - 160
100 - 161

100 - 186

Abb.

2

Adapter - extention piece with NPT thread

c.-item no

Material: steel,
* Material: stain

item no.

100 - 182

100 - 183

100 - 167

alvanized surface
ss steel 1.4571/316ti

Abb.

d1
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/8 BSP tap
R 1/4 BSP tap
R 1/4 BSP tap
R 1/8 BSP tap
R 1/4 BSP tap
R 1/4 BSP tab

R 1/4 BSP tab

d1
1/8 NPT
1/8 NPT

1/4 - 28 UNF

d2
M 10 x 1

Rp 1/8 BSP
M 8x1

Rp 1/8 BSP
Rp 1/8 BSP
Rp 1/8 BSP
Rp 1/8 BSP
Rp 1/8 BSP
Rp 1/8 BSP
M 10 x 1

Rp 1/8 BSP
Rp 1/4 BSP
Rp 3/8 BSP
Rp 1/4 BSP

Rp 1/4 BSP

d2
1/8 NPT
1/8 NPT

1/8 BSP

L1

18

18

18

23

23

30

35

45

50

20

20

22

27

25

85

L1

20

30

23

L2

7

7

7

12

12

18

23

33

38

11

17

71

L2

18

12

L3

11

11

11

11

11

12

12

12

12

11

11

14

16

8

14

L3

11

12

11

swW
13
13
13
13
13
13
13
13
13
17
17
17
22
17

17

sw
112
112

112

tube



L
G's
1

—
vl (0]} 9
cl 8 14
1 Ms p

sseuq :[eusjep

9 Sic-901

14 Sie-v0l

a "ou wayl ou wae-9

298¢ NIa 4

aA1]0 8U09 3|gnoQ

soeuns paziueaeb ‘jaa)s leusiel

LX0LIN S0Z - 901

LX8 N S0¢ - v0l
La "ou way ou Wway-o

L/8€ NI

8A1]0 8UOI 3|NOP 40} UOIUN 384208



Plastic tube semi-rigid PA 12 HL

S

da:||
di

DIN 73378 + Cetop

c.-item no item no. item da s di lengthens
100 - 009 - 25 6x1,5* 6 15 |3.0 25
100 - 004 6x1,5* 6 15 |3,0 100
100 - 003 6 x 1,5 empty 6 1.5 |3,0 100
100 - 003 - 25 6 x 1,5 empty 6 1.5 |3,0 25
Pressure: approx. 1291 PSI/ 9 MPA / 89 bar operating pressure * With grease NLGI quality grade 2 filled

** With low viscosity grease NLGI quality grade 000 filled

Plastic tube flexibel PA 12 PHL

da—d————

[

DIN 73378 + Cetop

c.-item no item no. color item da s di lengthens
100 - 005 black 4x0,85* 4 085 2,3 50
100 - 006 black 4x0,85empty 4 085 2,3 50
100-006 - T franz- 4x0,85empty 4 085 2,3 50
parent

Pressure: approx. 580 PSI / 4 MPA / 36 bar / operating pressure * With low viscosity grease NLGI quality grade 000 filled



High pressure hose 600-840 bar

3a

3a

High pressure hose

Screw sleeve

Hose stud 90° or 45°
Hose stud straight

High pressure hose 600-840 bar

Technical information

di da
4,0 8,6
4,0 8,6
6,3 11,3
6,3 11,3
material

tear strength

elongation at break
hardness shore
temperatur using

limit

cracking pressure

Sizes and tolerances

nominal size
inner diameter

external diameter

wall thickness eccentricity

ﬂl_g:::_:qt_::—j;g e

item no. packing unit miscellaneous
100-001 50m coil* with Fett KI. 2 filled, NLGI 2
100-002 50m coil* empty
100-011 100m coil* with Fett KI. 2 filled, NLGI 2
100-012 100m coil* empty

100-001 / 100-002 100-011 /100-012

inner tube casing inner tube casing

Poyamid6  mionencobiser | Povamid 12 mionencabiisen
DIN EN I1SO 527 > 30N/mm? > 18N/mm? > 38N/mm? > 20N/mm?
DIN EN ISO 527 > 50% > 380% > 250% > 320%
DIN EN ISO 868 D60 *3 A88*3 D61+3 A9213
-30°C {ill 80°C

If medium to be pumped "grease with corrosion protection additives™: max. 60°C

DIN EN I1SO 1402
20°C >800bar, 84 MPa, 12184 psi, 60°C >450 bar

Permissible bending radius for 20°C =20 mm

40x%x86 mmd 6,3 x 11,3 mm
3,90-4,10 mm 6,2 - 6,5 mm
8,50 x8,75 mm 11,1-11,5mm

max. 0,40 mm

max. 0,35 mm

Colour
inner tube natural glue green-transparent
casing black print white

cable armour  white

*For delivery 5% short lenghts are allowed.



Hose stud straight with and without claw groove

sw sw
—~h ~h o
I3 s eI T
;‘_‘.‘I‘—» ;‘_JI.‘L—). ¥ »
Abb.1 Abb. 2 / 7
sw - o
. ~h
~ -
ST T 0 el
le —— »! T et
Abb. 3 L Abb. 4 Abb. 5
c.-item no item no. Abb. da/D1 L sw
For assembling high pressure hose @ 4,1 x 8,75
100-054 -4 1 4 20 10
100 - 054 1 6 20 10
100 - 055 1 6 24 10
100 - 051 1 6 30 10
100 - 091 1 6 65,5 10
100-051-8 1 8 30 10
100 - 054 - NUT 2 6 20 10
100 - 051 - NUT 2 6 30 10
100 - 055 - NUT -V 4 6 24 10
100 -054 - NUT-SW 2 6 21,5 10
black
100 - 051 - VA~ 1 6 30 10
100 - 061 3 6 21,5 10
connector
100 - 051 -1 5 1/8 npt 25 76"
High pressure hose @ 6,35 x 11,3
100 - 064 1 6 20 12
100 - 064 - NUT 2 6 20 12
100 - 064 - VA * 1 6 20 12
100 - 074 1 8 20 12
100 - 074 - VA ™ 1 8 20 12
100 - 081 1 10 30 12

Material: steel, galvanized surface *Material: stainless steel 1.4571/316ti



Hose stud with and without claw groove 90°

E_P_» 4 Abb.1
S F
Abb. 2 ,I‘: | .
sw ) N
Abb. 1 r_L_‘ | | Abb. 2
E"_"_F: N |||t
- \ i
i L <h
i —da
<h
—hd—aq—
c.-item no item no. Abb. da h L sw
High pressure hose @ 4,1 x 8,75
100-059 -4 1 4 14 30 10
100 - 052 1 6 13 21 10
100 - 059 1 6 14 33 10
100-059 -NUT -V 3 6 14 33 10
100 - 062 1 6 17 29 10
100 - 053 1 6 28 37 10
100-053 -VA™* 1 6 28 37 10
100 - 053 -NUT 2 6 28 37 10
100 - 053 - NUT -SW 2 6 28 37 10
black
100 - 056 1 6 28 53 10
100 - 056 - NUT 2 6 28 53 10
100 - 056 - NUT - SW 2 6 28 53 10
black
High pressure hose @ 6,35 x 11,3

100 - 063 1 6 22 45 12
100 - 073 1 8 23 36 12
100-073 -VA* 1 8 23 36 12
100 - 083 1 10 23 36 12

Material: steel, galvanized surface *Material: stainless steel 1.4571/316ti



N9LE/LLGY | |99)s SS8|ulE]s [eusjeln,
20BUNs paziuealeb 'j9a)s (lelSiE

cl Gc Gg 8 3 8.0-00}
cl Gc Gg 9 3 890 - 00}
€'LL X 6g'9 @ @soy aunssaid ybiy Bujquesse Joj pnys esoH

xoe|q
ol Gc Gg 9 Z MS-1NN-8S0-001
ol Gc Gg 9 4 1NN -850 - 001
0] Gc Gg 9 3 «VA - 8G0 - 00|
ol Gc Gg 9 3 850 - 00}
ol Gl e 9 4 1NN - 2S0 - 001
oL Gl ve 9 3 250 - 00}

G/'8 X 'y @ @soy ainssaid ybiy Buiquiasse 1o} pms 9SoH

MS I y ep ‘qay "ou wayl ou way-9
. .y
| qay 7 *® zaav oov/ L aqv
o o
g8 ' — I ?l
. = ST
ms ms

.G @A0046 Me[d JNOYJIM pue Y}IM pnjs aSoH



Screw sleeve

swW

|

c.-item no item no.

High pressure hose @ 4,1 x 8,75

100 - 050

100 - 050 - SW
black

100 -050- VA *

High pressure hose & 6,35 x 11,3
100 - 060

100 - 060 - VA *

Material: steel, galvanized surface

Screw sleeve with hose stud 1/8 NPT

swW

c.-item no item no.

High pressure hose @ 4,1 x 8,75

100 - 050 -1

screw sleeve

100 - 051 -1

hose stud
Material: steel galvanised

28
28

28

35,8

35,8

26

25

sw

12

12

sw

12

12

12

17

17

*Material: stainless steel 1.4571/316ti

- L -
e
SJT SW
swi1 D1
7116 1/8 NPT

D1



Spring coil short stainless steel 1.4301/304

-

L

c.-item no item no. I

100 - 045 - VA 200

* Material: stainless steel 1.4301/304

Spring coil long stainless steel 1.4301/304

i

'_""_=-— o

c.-item no item no. L
100 - 046 - VA 2000
100 - 047 - VA 5000

* Material: stainless steel 1.4301/304

di

12,9

di
10,6

10,6

1,5

1,2

1,2



L

L

L

MS

dey L x0L W
deyL xg W
deyL x9 W

Lp

0O <« < <«

sselq :[eueep

€¢l -¥01

el -¥0l

iel -0l

"ou wayl ou Wway-9

L X8I

\
s

peauy) paiade} yym smoq|3



Socket unions for tapered sleeves

D1
Y
c.-item no item no. D1
104 - 220 M 8x1
106 - 220 10x1
110 - 220 M16x1,5
Material: brass
Tapered sleeves
T
D
1]
c.-item no item no. D
104 - 211 4
106 - 211 6
110-211 10

Material: brass

di

10

10

<i74



G'Lx0L
GZ'L X9
G8'0X ¥

@ aqn} 1o}

sselq :[eusjep

L €0Z - 0Lt
G'e €02 - 901
€T €02 - ¥0L
a ‘ou way ou Way-o

I E—— :

aqnj onyse|d 10} }9)320s Buioiojulay



Hose strap

iy

1

c.-item no

Material: PA 6, black

item no.

100 - 025

100 - 026

100 - 027

100 - 028

100 - 029

llluminated push button

55

M 20x1

____

c.-item no

flat connection
2,8 x0,8 mm
mounting * 20,3 mm

P 3

o 24

A

N 4

item no.
100 - 290

100 - 291

length x width
200 x 5,0
300x4,6
380 x4,7
365x76

780 x9,0

push button
green

green

packaging unit
100
100
100
100

100

voltage capacity
24V 1,2W

12V 1,2W



Filling pump

Protection cap

Abb. 1
Bild 1
Cartridge with female thread
Abb. 2
Bild 2
c.-item no item no. Bild Abb.
100 - 201 1 1
100 - 204 2 2
Din 1284 400 cm? cartridge
Material: steel, chromed surface
Filling connection
Fillining connections for our filling pump, part no. 100 - 201
c.-item no item no. D
100 - 200 M20x1,5
100 - 208 M22x1,5

Material: steel, galvanized surface

connection

with stub

M26x1,5

sSw

32

32



lc

lc

Lc

Lc

Mms

lc

yX4

yX4

yX4

Ms

GLX9ZW
GLX9ZW
GLX9ZI
G'LX9ZI

Lp

¥

GLX9ZW
GLX9ZW
GLX9ZW

GLX9ZW

LP

G'LX0ZI
GLXZZW
GLXZZIW
GLXZZIW

a

G'LX0ZI
GLXZZIW
GLXZZIW
GLXZZIW

a

aoens paziueAleb ‘[og)s :[euslep

18 66 G -€0¢ - 00}
00L 2Ll ¢-€0¢ - 00}
I8 €6 |l -€02 - 00}
89 7 €0¢ - 00}
Zl 11 ‘ou wajy ou w89

+0Z - 001 "ou Jed ‘dwnd Buijy Jno Joy suonosuuod Buuli4
Ms

[T 1] g

P

|
a |
11 _

06 uoljdauuod Bulj|i4

aoeuns paziuejeb '[og)s :[euslel

87 09 20¢ - 001
€9 6. ¢ -2¢0c - 001
€y 6§ | -2¢0c - 00}
9 8¢ ¢0¢ - 001
¢l 11 ‘ou way ou wel-o

+0Z - 001 "ou Wed ‘dwnd Buijy Jno Joy suogoauuoo Buuli4

ybieays uoioauuod bulji 4



Coupling female

DIN 7241-B Serie

sSwW

c.-item no item no.
100 - 205-1/4

100 - 205 - 3/8

Material: steel, galvanized surface

Coupling male

DIN 7241-B Serie

L1
c.-item no item no.
100 - 206 - 1/4
100 - 206 - 3/8

Material: steel, galvanized surface

Adapter
T
D1L D2
c.-item no item no.
100 - 209

100 -209-20x 1,5
100 -209-22x 1,5

Material: steel, galvanized surface

—

d L1 D swW
Rp 1/4 BSP 57 |28 |19

Rp 3/8 BSP 64 36 23

d L1 sw
Rp 1/4 BSP 36 19
Rp 3/8 BSP 43 21

D1 D2

R 1/4 BSPP R 1/4 BSPP
R 1/4 BSPP M20x1,5
R 1/4 BSPP M22x15

operationg
pressure
340 Bar

270 Bar

%

operationg
pressure
340 Bar

270 Bar

<

SV
\ !

] L)
..‘J'

1 ,'-
||



LXOLW LXOLWN SLX0ZW

|9g)s ‘sseuq :[eusiei
§¢c - 00}

"ou we)l ou way-'9

Bn|d Buidnosn

|98)s ‘sseuq ‘onseld :jeusiep

9% ¥8 89 9¢c- 001

€d EMS Z2Ms IMs 21 11 ‘ou wsyl Oou Wway-9

N

v

1od moj) uinjal yjm 3ay20s buiidnon



0§

G'ee

Zl

S've

b1

89

b1

9€
IMS

onseid :jeusjep
8¢¢ - 001

"ou Wwayl ou Way-"9

TIN._|...7

A
|
|
|
|
|
|

T — — — T

qnjs 10} 18A09 }sSn(g

soepns peziueneb (og)s :[eusie|

122 -001
‘ou way ou way-o
0 “—LMS——
. \

=R

Bn|d Buljdnoo J10j qmis



Junction block T-drilled thread M10x1

b
h

O

i
O
()

c.-item no item no.
100 - 211
100 - 212
100 - 213
100 - 214
100 - 215
100 - 216
100 - 218

Material: steel, galvanized surface

Closure plug

SW
=
c.-item no item no.
100 - 243
100 - 243 - SW
black

Material: steel, galvanized surface

example of application

number of
connections
1

2

3

-4
30
60
80
106
128
150

194

L2

50
74
96
118
140

184

L3

22

22

22

22

22

d1

M10x1

M10x1

sSw



T-banjo fitting

d1
SW
FELT -
« Qi
LA )
¥
--D1 Ll
c.-item no item no. SwW L1 D1 d1
100 - 323 14 35 M 10x1 M 10x1
100 - 324 14 35 1/8 BSP 1/8 BSP
example of use
main line
E; B manual lubrication device
(o]
£ B
B progressive distributor
Q O

Material: 11SMnPb30 + C, galvanized surface

High pressure grease nipple

L1 41 SW

r \I, DIN 71412 Form A
c.-item no item no. SWi1 L1 D1
250 - 003 - RV 11 20,7 M 10 x 1 tap
250 - 004 - RV 11 20,7 R 1/8 PT

example of use

Material: 11SMnPb30 + C Material: galvanized surface 1SO 4042 A3F



paliy 8ulIeok|B

soeyns paziueneb ‘jaa)s jeusiel

19 dsa v/l 1-G¥¢-901

ey 2} "Ou Weyl ou way-9

Jajawiouew 4o} }@yseb yjm uoijoauuod mauaas ajqeisnipy

UONO9UUOD Sselq ‘[99)S SSa|ulg)s Apog jelusie|

€9 v/l GGZ- 001

a ) "ou Wy

Jajowouey



Rubber lined tube clamp DIN 3016

@D

b

c.-item no item no.
100 - 506
100 - 509
100 - 512
100 - 515
100 - 518
100 - 522
100 - 525
100 - 606
100 - 609
100 - 610
100 - 612
100 - 615
100 - 618
100 - 620
100 - 622
100 - 625
100 - 629

Material: steel, galvanized surface, rubber EPDM

12

15

18

22

25

10

12

15

18

20

22

25

29

@D1mm B mm
5.3 12
53 12
53 12
53 12
5,3 12
5,3 12
5,3 12
6,4 15
6,4 15
6,4 15
6,4 15
6,4 15
6,4 15
6,4 15
6,4 15
6,4 15
6,4 15

packaging unit
100
100
100
100
50
50
50
100
100
100
100
100
100
50
50
50

50



	1.pdf
	2.pdf
	3.pdf
	4.pdf
	5.pdf
	6.pdf
	7.pdf
	8.pdf
	9.pdf
	10.pdf
	11.pdf
	12.pdf
	13.pdf
	14.pdf
	15.pdf
	16.pdf
	17.pdf
	18.pdf
	19.pdf
	20.pdf
	21.pdf
	22.pdf
	23.pdf
	25.pdf
	26.pdf
	27.pdf
	28.pdf
	29.pdf
	30.pdf
	31.pdf
	32.pdf
	34.pdf
	35.pdf
	36.pdf
	37.pdf
	38.pdf
	39.pdf

